English
Grade 4

National Level Examination

NLE 2024 Subject Code: |4 |0 | 1

Total Questions: 30 Time: 1 hour

DO NOT OPEN THIS BOOKLET UNTIL INSTRUCTED TO DO SO

» All questions are compulsory.

» Read the instructions on the ANSWER SHEET and fill in your NAME, CLASS and
OTHER INFORMATION.

» To mark your choice of answer by darkening the circles in the ANSWER SHEET, use
an HB PENCIL only.

You MUST record your answers on the ANSWER SHEET only.

» There are 30 MULTIPLE CHOICE QUESTIONS. Use the information provided to
choose the BEST possible answer among the four options. On your ANSWER SHEET
fill in the circle that matches your answer.

> ;— MARK will be deducted for every WRONG ANSWER.

» Return the ANSWER SHEET to the invigilator at the end of the examination.

> You are NOT allowed to use a calculator. You may use a ruler and spare paper for
rough work.
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This question paper contains a total of 30 questions divided into two sections—A and B.

Read the instructions carefully before attempting these questions.

/ Section A (Subject Specific) /

. Choose the appropriate set of words to complete the following sentence:

You can learn French (easy/easily) if you practise (enough/much).
(A) easy, much (B) easily, much
(C) easily, enough (D) easy, enough

. Which of the following words cannot be used as a homonym?
(A) Write (B) Right
(C) Spring (D) Rose

. Choose the correct suffix to make a noun from the following word:

Brave
(A) ity (B) ly
(C) ry (D) dom

Fill in the blank with most suitable helping verb in the following sentence:

Prachi and Riya playing badminton.
(A) was (B) are
(C) is (D) am

Identify the word used as an adjective in the following sentence:
He runs fast but he is always cautious.

(A) He (B) Fast

(C) Always (D) Cautious

. Choose the correct contraction for the underlined words.

You are not scared of ghost?
(A) You're (B) You'are
(C) You’s (D) None of these
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Choose the correct compound word for the following picture:
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(A) Iceberg (B) Icebox
(C) Icebreaker (D) Ice cream

Use the appropriate set of prepositions to complete the following sentence:

While looking a novel in the rack, | came my report card of class 4.
(A) for, across (B) up, out
(C) out, by (D) with, up

Choose the correct suffix to make an adjective from the following word:

Nation
(A) -Al (B) -Ar
(C) -Ful (D) -lIc

Identify the verb in the following sentence:

The saint went to a jungle.

(A) Saint (B) Jungle
(C) Went (D) To

Choose the option that rewrites the following sentence changing the subject from plural
to singular. The sentence should be in simple present tense.

Doctors treat patients.
(A) Doctor treats patients. (B) Doctor is treating patients.
(C) Doctor has treated patients. (D) None of these

Choose the appropriate pronoun to complete the following sentence:

Is that Rahul? | haven’t met for a long time.
(A) her (B) him
(C) them (D) he
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Which conjunction can be used to join the following sentences meaningfully?

He missed the bus. He was late.
(A) If (B) Since
(C) Unless (D) None of these

Choose the sentence which has correctly joined the following sentences using appropriate
connector:

Reeve is rich. Reeve helps the poor.
(A) Reeve is rich until he helps the poor. (B) Reeve is rich and he helps the poor.
(C) Reeve is rich because he helps the poor. (D) None of these

Choose the sentence that does not contain a possessive pronoun.

(A) That pen is mine. (B) This suitcase is his.

(C) Thisis our lucky pen. (D) The purple dress is hers.
Identify the sentence that is correctly punctuated.

(A) | can’t reveal Rita’s progress. (B) I cann’t reveal Rita’s progress.
(C) Ican’t reveal Ritas’ progress. (D) I can’t reveal Rita,s progress.
Identify the kind of tense used in the following sentence:

They drive their kids to school.
(A) simple present (B) simple past
(C) simple future (D) none of these

Fill in the blank with the correct possessive adjective in the following sentence:

The puppy is wagging ___ tail.

(A) it's (B) it

(C) its (D) its’

Choose the correct set of articles to complete the following sentence:

Surabhihas __ fracturein her finger, so shecan’thold __ bag for long.
(A) a/an (B) a/the

(C) the/the (D) the/a
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20. Choose the word that should be capitalised in the following sentence:
We eat Chinese food for dinner every friday.
(A) Food (B) Dinner
(C) Every (D) Friday

21. Choose the sentence that does not contain an adverb.

A) Rohit shrieked loudly.

(A)
(B) You should sit inside.
(C) This man is selfish.

(

D) She is quite a good dancer.
22. Choose appropriate antonym to complete the following sentence:
As linger is to hasten, similarly retreat is to
(A) ebb (B) evacuation
(C) advance (D) withdrawal

Read the passage given below and answer questions 23 to 25.

The United Nations was formed after two great world wars took place in 1930’s and 1940’s. The
wars had not only caused damage to houses and workplace, but had also taken away precious
human lives. Watching the world crumble, 51 countries came together with the goal of helping
each other, maintaining peace and extending their hands towards friendship. Some of these
countries were United States, United Kingdom, China and Russia. As time passed, more countries
joined the cause of United Nations. Presently there are 192 countries that have taken the
decision to join hands with United Nations. Think of the problems that different countries face:
natural disaster, fight among people over caste and class issues, etc. How are these problems
solved? United Nations has many organizations working under them. For example, you may have
heard of UNICEF (The United Nations Children’s Emergency Fund). This organization provides
humanitarian and developmental assistance to children and mothers in developing countries. It
is estimated that 92 percent of UNICEF revenue is distributed to programme services.

23. What do you mean by ‘humanitarian’?
(A) Destructive (B) Charitable

(C) Humans (D) Distributive
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Identify the abstract noun that is not used in the passage.

(A) Peace (B) Friendship
(C) Fight (D) Courage
What is the synonym of ‘presently’?

(A) Shortly (B) Soon

(C) Currently (D) Later

/ Section B (Competency Enhancement) /

Read the following sentence and check which part of speech is being modified by the
adverb ‘very’:

Surya hit the ball very hard.
(A) verb (B) adverb
(C) adjective (D) noun
Rearrange the following words to form a meaningful sentence:
excited /all / for / were / event / the
a b c d e f
(A) feadcb (B) bdeacf
(C) bdacfe (D) feacbd
Choose the sentence that is written correctly.
(A) Mary kom is an indian female boxer.
(B) Mary Kom is an Indian female boxer.
(C) mary Kom is an Indian female boxer.
(D) mary kom is an indian female boxer.
Which part of speech is the underlined word in the following sentence:
Divya passed a friendly smile to her cousin for helping her.
(A) Adjective (B) Adverb
(C) Noun (D) None of these
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30. Choose the correct option having the rightly punctuated sentence of the following
statement:

The Teacher said. ‘The Earth is round”

(A) The Teacher Said, “The Earth is round.”
(B) The teacher said, “The Earth is round.”
(C) The teacher said, that the Earth is round.
(D) The teacher said, ‘the Earth is round.’







